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Dim scorel(5) As Integer
scorel(0) =100
scorel(l) =65
scorel(2) =76
scorel(3) =87
scorel(4) =61
scorel(5) =99
Msgbox(scorel(0))
Msgbox(scorel(1))
Msgbox(scorel(2))
Msgbox(scorel(3))
Msgbox(scorel(4))
Msgbox(scorel(5))
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Dim score2(5) As Integer

Dim bangou As Integer ‘SEELI=WVFEBFEEEZANTHLEH

score2(0) =100
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Dim score3(5) As Integer
Dim 1 As Integer
score3(0) = 100

score3(1) = 65

score3(2) = 76

score3(3) = 87

score3(4) =61

score3(5) = 99
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DIm score4(5) As Integer
DIM namel(5) As String
DIm 1 As Integer
score4(0) = 100

score4(1) = 65
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Dim score5(5) As Integer
Dim 1 As Integer
Dim goukei As Integer

goukeil =

0

score5(0) =100
score5(1) = 65
scoreb5(2) =76
score5(3) = 87
score5(4) =61
score5(5) =99
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Next |
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